Practice Tests Set 16 – Paper 1F mark scheme, performance data and suggested grade boundaries

	1
	
	
	78

	1
	B1
	cao

	
	
	
	
	
	
	Total 1 mark



	2
	
	
	


	1
	B1
	cao

	
	
	
	
	
	Total 1 mark



	3
	
	
	2

	1
	B1
	cao

	
	
	
	
	
	Total 1 mark



	4
	
	
	


	1
	B1
	cao

	
	
	
	
	
	Total 1 mark



	5
	
	
	


	1
	B1
	cao

	
	
	
	
	
	Total 1 mark



	6
	(a)
	
	
	2
	B2
	for all correct frequencies
(B1 for 2 or 3 correct frequencies or 2, 3 or 4 correct tallies with no frequencies (or incorrect frequencies) or frequencies written as probabilities with 2, 3 or 4 correct numerators)

	
	(b)
	
	
	3
	B2 ft
	For 4 correct bars ft from table (B1ft for 2 or 3 correct bars ft from table)

	
	
	
	
	
	B1
	For clear labels for bars and linear scale starting at 0 oe

Condone bars of different widths

	
	
	
	
	
	
	Total 5 marks



	7
	(a)
	
	

	1
	B1
	accept 0.43(333…) 
or 43(.333…)%

	
	(b)
	


e.g.  or  or  where a > 23 and a ≠ 30
	
	2
	M1
	

	
	
	
	

	
	A1
	accept 0.76(666…) or 0.77 
or 76(.666…)% or 77%

	
	
	
	
	
	
	penalise incorrect notation once only

	
	
	
	
	
	
	Total 3 marks




	8
	(a)
	
	14
	1
	B1
	

	
	(b)
	
	−19
	1
	B1
	

	
	
	
	
	
	
	Total 2 marks




	9
	
	
	26
	1
	B1
	

	
	
	
	
	
	
	Total 1 mark




	10
	(a)
	
	13x – 2y
	2
	B2
(B1
	accept – 2y + 13x
for 13x or – 2y)

	
	(b)
	2n = 16 – 5 or 2n = 11 oe or (16 – 5) ÷ 2 
	
	2
	M1
	for a correct first step 
or a correct calculation for n

	
	
	
	5.5
	
	A1
	

for 5.5 or  or 

	
	
	
	
	
	
	Total 4 marks



	11
	(a)
	
	44
	1
	B1
	

	
	(b)
	
	6
	1
	B1
	

	
	(c)
	
	36
	1
	B1
	

	
	(d)
	
	17
	1
	B1
	

	
	(e)
	
	8, 76
	1
	B1
	Must have both and no others

	
	
	
	
	
	
	Total 5 marks




	12
	
	
	20cd
	1
	B1
	

	
	
	
	
	
	
	Total 1 mark




	13
	
	eg 76% (25%) 7.66% (8%) 2.6% or
(0.76) 0.25 (0.0766) 0.08 (0.026)
	



0.026, 0.0766, 8%, 25%, 0.76
	2
	M1
	All values written as % or all written as decimals or 4 values in correct order or all values in correct reverse order

	
	
	
	
	
	A1
	Any form

	
	
	
	
	
	
	Total 2 marks




	14
	
	
	e5
	1
	B1
	

	
	
	
	
	
	
	Total 1 mark





	15
	
	
0.3 × 30 (= 9) or  or

 or 0.333…+ 0.3(=0.63…) or  33.3…(%) + 30(%)oe (=63.3…)(%)
	

	3
	M1
	
Allow 9 squares clearly indicated for 30% or 10 squares clearly indicated for 

	
	
	“9” and “10” or 19 shaded squares on diagram

or  or  (1 – 0.63…)× 30
	
	
	M1
	Allow squares with crosses or other indication of ‘shading’ such as ‘y’ or ‘b’

	
	
	
	11
	
	A1
	

	
	
	
	
	
	
	Total 3 marks




	16
	(a)(i)
	
	Three different numbers less than or equal to 9
	1
	B1

	cao e.g. 1, 2, 3 or 3, 6, 9

	
	(a)(ii)
	
	Three different multiples of ten
	1
	B1
	cao e.g. 10, 20, 30 or 20, 40, 60

	
	(b)
	
	A cross at 0.5
	1
	B1
	cao

	
	
	
	
	
	
	Total 3 marks



	17
	(a)
	
	
	2
	B2
	B2 for all scores completed correctly.  B1 for 6, 7, 8 or 9 scores completed correctly

	
	(b)
	
	

	1
	B1ft
	
oe ( or 0.83(33...) or 83.(33..)%)
ft from complete table

	
	(c)
	
	

	1
	B1ft
	oe  Penalise incorrect notation once only
ft from complete table

	
	
	
	
	
	
	Total 4 marks





	18
	
	
	4x – x2
	1
	B1
	

	
	
	
	
	
	Total 1 mark




	19
	
	
	6p
	1
	B1
	

	
	
	
	
	
	
	Total 1 mark




	20
	
	
	12
	1
	B1
	

	
	
	
	8
	1
	B1
	

	
	
	
	
	
	
	Total 2 marks




	21
	
	
	8y²
	1
	B1
	

	
	
	
	
	
	
	Total 1 mark




	22
	
	3, 7, 8, 8
and one of
4 or 5 or 6
	
	B3 
	For a list of 5 correct numbers

(B2 for a list of 5 numbers with 2 of: median of 7, mode of 8, range of 5

B1 for a list of 5 or 6 numbers with 1 of: 
median of 7, mode of 8, range of 5)


	
	
	
	
	Total 3 marks




	23
	(c)
	Two intersecting arcs with equal radius
	
	2
	M1
	For arcs that intersect within guidelines or correct equilateral triangle drawn without arcs

	
	
	
	Correct equilateral triangle with arcs
	
	A1
	

	
	
	
	
	
	
	Total 2 marks




	24
	
	


e.g.  or  or 
	
	2
	M1
	for finding a common denominator with at least one fraction correct

	
	
	
 

 


	Shown
	
	A1
	
dep on M1, for a complete correct method leading to 

	
	
	
	
	
	
	Total 2 marks




	25
	
	
	3(3t – 2)
	1
	B1
	

	
	
	
	
	
	
	Total 1 mark





	26
	(a)
	
	Reflection 
x = 1
	2
	B1
	for reflection with no mention of translate, rotate, enlarge, move

	
	
	
	
	
	B1
	for x = 1 with no mention of a vector, angle or scale factor

	
	(b)
	
	Rotation about (0,0) 90° clockwise
	3
	B1
	for rotation with no mention of translate, reflect, enlarge, move

	
	
	
	
	
	B1
	for 90° clockwise/270° anticlockwise/−90° with no mention of a vector, line of symmetry or scale factor

	
	
	
	
	
	B1
	for (centre =) (0,0), accept origin or O with no mention of a vector, line of symmetry or scale factor

Do not accept  for centre

	
	
	
	
	
	
	Total 5 marks




	27
	(a)
	
	2.84 × 109
	1
	B1
	

	
	(b)
	
	0.000 25
	1
	B1
	

	
	
	
	
	
	
	Total 2 marks




	28
	
	8x² + 20x – 6x² + 9x
	


2x² + 29x
	2
	M1
	3 correct terms or all 4 terms condoning incorrect signs


	
	
	
	
	
	A1

	

	
	
	
	
	
	
	Total 2 marks




	29
	(i)
	
	21, 27
	1
	B1
	

	
	(ii)
	
	21, 23, 24, 25, 27, 29 
	1
	B1
	

	
	
	
	
	
	
	Total 2 marks




	30
	(b)
	

 or or 5 + n ˗ 6 = 13
	

14
	2
	M1
	Use of 1 rule of indices or a correct equation in n

	
	
	
	
	
	A1
	
Accept 


	
	
	
	
	
	
	Total 2 marks



	31
	(c)
	
y + e = dx oe or 
	
	2
	M1
	for a correct first step

	
	
	
	

	
	A1
	
oe e.g. 

	
	
	
	
	
	
	Total 2 marks



	[bookmark: _Hlk61273311]32
	(a)
	
	16x12y20
	2
	B2
	B1 for an answer in the form axnym  with 2 correct from 
a = 16, n = 12, m = 20

	
	(b)(i)
	(x ± 9)(x ± 4)
	
	2
	M1 
	for (x ± 9)(x ± 4) 
or for (x + a)(x + b) 
where ab = −36 or a + b = 5

	
	
	
	(x + 9)(x – 4)
	
	A1
	

	
	(ii)
	
	–9, 4
	1
	B1
	ft from (b)(i)

	
	
	
	
	
	
	Total 5 marks




	33
	(a)
	
	5y3(3y + 4u)
	2
	B2

(B1
	for 5y3(3y + 4u)

for 5y(3y3 + 4uy2) 
or 5y2(3y2 + 4uy)
or y2(15y2 + 20uy) 
or y3(15y + 20u) 
or 5y3(…) where there is only one mistake in the brackets)


	
	(b)
	
oe 

or oe 

or oe
	
	3
	M1
	for removal of fraction in a correct equation

	
	
	
e.g. 

or oe 

or 
	
	
	M1
	for terms in x on one side and numbers on the other side in an equation, allow correct rearrangement of their equation in the form ax + b = cx + d

	
	
	
	2.75
	
	A1
	

(dep on M1) oe e.g. or 

	
	
	
	
	
	
	Total 5 marks




	34
	(c)(i)
	7t – 2t < 7 + 8 oe eg 5t < 15 oe
	




t < 3
	2
	M1
	Terms in t on one side and number terms the other side – may be in an equation or the incorrect inequality sign or an answer of 
t = 3 or eg t ≥ 3

	
	
	
	
	
	A1
	Must be a correct inequality given as answer

	
	   (ii)
	
	open circle at t = 3 and a line with an arrow to the left

	1
	B1ft
	Allow a line without an arrow if it reaches to at least −5, with an arrow it can be any length

	
	
	
	
	
	
	Total 3 marks















Practice Tests Set 16 – Paper 1F mark scheme, performance data and suggested grade boundaries

	Q
	Working
	Answer
	Mark
	Notes






14

	Qn
	Paper
	Question
	Mean score
	Max score
	Mean %
	ALL
	5
	4
	3
	2
	1
	U

	1
	1F
	Q04e
	0.91
	1
	91
	0.91
	0.99
	0.97
	0.91
	0.73
	0.56
	0.14

	2
	1F
	Q04a
	0.93
	1
	93
	0.93
	0.99
	0.95
	0.96
	0.88
	0.61
	0.29

	3
	1F
	Q04b
	0.89
	1
	89
	0.89
	0.98
	0.91
	0.88
	0.74
	0.57
	0.36

	4
	1F
	Q04c
	0.87
	1
	87
	0.87
	0.97
	0.91
	0.87
	0.70
	0.53
	0.14

	5
	1F
	Q04d
	0.72
	1
	72
	0.72
	0.95
	0.79
	0.62
	0.34
	0.13
	0.07

	6
	2F
	Q02
	4.61
	5
	92
	4.61
	4.85
	4.71
	4.61
	4.22
	3.63
	1.78

	7
	1F
	Q15
	2.47
	3
	82
	2.47
	2.90
	2.77
	2.44
	1.57
	0.65
	0.00

	8
	2F
	Q03
	1.82
	2
	91
	1.82
	1.93
	1.84
	1.83
	1.68
	1.27
	0.66

	9
	2F
	Q07e
	0.89
	1
	89
	0.89
	0.97
	0.92
	0.87
	0.76
	0.61
	0.44

	10
	1F
	Q07
	3.26
	4
	82
	3.26
	3.85
	3.64
	2.97
	2.25
	1.24
	0.36

	11
	2F
	Q01
	4.32
	5
	86
	4.32
	4.83
	4.51
	4.17
	3.49
	2.55
	0.99

	12
	2F
	Q07d
	0.85
	1
	85
	0.85
	0.93
	0.85
	0.81
	0.76
	0.69
	0.22

	13
	2F
	Q04b
	1.53
	2
	77
	1.53
	1.85
	1.62
	1.34
	1.03
	0.67
	0.44

	14
	2F
	Q07c
	0.78
	1
	78
	0.78
	0.91
	0.81
	0.73
	0.59
	0.33
	0.00

	15
	2F
	Q04a
	2.19
	3
	73
	2.19
	2.78
	2.40
	1.91
	1.17
	0.54
	0.22

	16
	1F
	Q02
	2.30
	3
	77
	2.30
	2.59
	2.36
	2.25
	1.99
	1.41
	0.28

	17
	2F
	Q09
	2.99
	4
	75
	2.99
	3.54
	3.13
	2.73
	2.16
	1.36
	0.44

	18
	1F
	Q12a
	0.68
	1
	68
	0.68
	0.91
	0.76
	0.57
	0.28
	0.12
	0.00

	19
	2F
	Q07a
	0.76
	1
	76
	0.76
	0.88
	0.75
	0.67
	0.63
	0.64
	0.22

	20
	2F
	Q06ab
	1.48
	2
	74
	1.48
	1.68
	1.44
	1.47
	1.28
	0.95
	0.55

	21
	2F
	Q07b
	0.68
	1
	68
	0.68
	0.87
	0.71
	0.59
	0.39
	0.24
	0.00

	22
	2F
	Q16
	1.69
	3
	56
	1.69
	2.47
	1.84
	1.15
	0.48
	0.14
	0.00

	23
	2F
	Q06c
	1.21
	2
	61
	1.21
	1.59
	1.22
	1.07
	0.61
	0.36
	0.11

	24
	1F
	Q16
	1.14
	2
	57
	1.14
	1.75
	1.20
	0.73
	0.28
	0.03
	0.00

	25
	2F
	Q07g
	0.54
	1
	54
	0.54
	0.84
	0.58
	0.26
	0.13
	0.05
	0.00

	26
	1F
	Q14
	2.21
	5
	44
	2.21
	3.50
	2.12
	1.42
	0.56
	0.27
	0.07

	27
	1F
	Q22
	0.85
	2
	43
	0.85
	1.45
	0.81
	0.41
	0.17
	0.03
	0.00

	28
	2F
	Q19a
	0.70
	2
	35
	0.70
	1.10
	0.69
	0.41
	0.17
	0.11
	0.00

	29
	1F
	Q20
	0.65
	2
	33
	0.65
	1.03
	0.66
	0.38
	0.17
	0.04
	0.00

	30
	2F
	Q19b
	0.67
	2
	34
	0.67
	1.28
	0.59
	0.15
	0.07
	0.00
	0.00

	31
	1F
	Q12c
	0.67
	2
	34
	0.67
	1.29
	0.50
	0.23
	0.06
	0.00
	0.00

	32
	1F
	Q25
	1.12
	5
	22
	1.12
	2.22
	0.85
	0.27
	0.08
	0.00
	0.00

	33
	1F
	Q21
	1.09
	5
	22
	1.09
	2.19
	0.71
	0.30
	0.17
	0.03
	0.00

	34
	2F
	Q19c
	0.78
	3
	47
	0.78
	1.56
	0.51
	0.18
	0.11
	0.06
	0.00

	 
	 
	 
	49.25
	80
	 
	49.25
	63.42
	50.03
	41.16
	30.70
	20.42
	7.78



Suggested grade boundaries

	Grade
	5
	4
	3
	2
	1

	Mark
	58
	45
	36
	25
	15
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Here is a list of the method of transport to school recorded for class 7T one day.

walk bus bicycle walk bus
bicycle walk car bus bicycle
bus bicycle bus car walk
walk bus walk walk car

(@ Complete the frequency table for the method of transport to school.

Transport Tally Frequency
walk e 7
bus L 6
bicycle L4 ] 4
car ek 3
()
(b) Draw a bar chart for the information in your table.
Grade 1
F6.1AB
reasoning
Type 1- clipped
as ft 3)

(Total for Question 2 is 5 marks)




image5.jpeg
The students in class 7T were asked how they got to school one day.
Here is a list of their method of travel to school.

walk bus bicycle walk bus
bicycle walk car bus bicycle
bus bicycle bus car walk
walk bus walk walk car

(a) Complete the frequency table for the methods of travel in the list.
|

Method of travel Tally Frequenc)

Printers — please can the
walk left hand line and the
bottom line be of bolder

bus
type to represent the axes.
bicycle
car
@)
(b) Draw a bar chart for the information in your table.
Grade 1
F6.1AB
reasoning
Type 1 — clipped bu’ [O\CjCLQ. @A
as ft 3
A3)

(Total for Question 2 is 5 marks)
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9 Grace has a fair spinner and a fair dice.
The spinner is 3-sided and can land on 6, 7 or 8

The dice canlandon 1,2,3,4,50r 6

Please print a normal
dice with shown sides
numbered normally.

Grace spins the spinner and throws the dice.

Grace subtracts the number shown on the dice from the number shown on the spinner
to get her score.

(a) Complete the table to show the scores for each possible outcome.

8 of the scores have been completed for you.
Type 2 clipped as ft

1 2 3 4 5 6
6 5 4 3 2 1 0
7 6 5 4 3 2 1
8 7 6 5 4 3 2
2)
Grace spins the spinner and throws the dice.
(b) Write down the probability that she gets a score that is less than 6
1)
(c) Write down the probability that her score is an even number.
Clip together as ft from diagram.
Migst be miarked by type 2opd mavkegds - o = 0 o0 st o R s
student may cancel and if ft cancelling is not
straightforward. ¢))
GldeEe (Total for Question 9 is 4 marks)
F6.3AF S

11
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